BID OPENING DATE:
BID OPENING LOCATION:
TABULATION BY:
TABULATION DATE:
LJA JOB NO.

CONSTRUCTION OF THE GRADING IMPROVEMENTS FOR WILDCAT RANCH, PHASE 5 KAUFMAN COUNTY FRESH WATER SUPPLY DISTRICT NO. 4B CITY OF CRANDALL E.T.J., KAUFMAN COUNTY, TEXAS AUGUST 6, 2024 LJA ENGINEERING, INC. S.BOOTH AUGUST 6, 2024

BIDDER'S NAME	TOTAL AMOUNT BID	CALENDAR DAYS	CONTRACTOR'S SCHEDULE
1) OBRA RAMOS EXCAVATION, INC.	\$1,107,978.60	75/25	SEPTEMBER 9, 2024
2) RPM XCONSTRUCTION	\$1,200,873.80	90/20	AUGUST 12, 2024
3) CHRIS HARP CONSTRUCTION	\$1,269,660.00	156/29	SEPTEMBER 7, 2024
4) FCS CONSTRUCTION, LP	\$1,278,271.20	90/20	NOT PROVIDED
5) HARD ROCK EXCAVATION	\$1,456,535.50	65/22	SEPTEMBER 23, 2024
6) HAMMETT EXCAVATION INC.	\$1,595,648.30	91/14	NOT PROVIDED

NT840-0015I

Edgar Saucedo

EDGAR SAUCEDO

125603

CENSE
ONAL ENGRE

Edgar Saucedo

I, Edgar Saucedo, P.E., hereby certify these bid tabulations to be true and correct.

BID OPENING DATE:
BID OPENING LOCATION:
TABULATION BY:
TABULATION DATE:
LJA JOB NO.

CONSTRUCTION OF THE GRADING IMPROVEMENTS FOR WILDCAT RANCH, PHASE 5 KAUFMAN COUNTY FRESH WATER SUPPLY DISTRICT NO. 4B CITY OF CRANDALL E.T.J., KAUFMAN COUNTY, TEXAS AUGUST 6, 2024

LJA ENGINEERING, INC. S.BOOTH AUGUST 6, 2024 NT840-0015I

				1) OBRA RAMOS EXCAVATION, INC.		2) RPM XCONSTRUCTION		3) CHRIS HARP CONSTRUCTION	
ITEM	DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST
SECTION A - RESIDENTIAL GRADING II	MPROVEMENTS							•	
1 CONSTRUCTION ENTRANCE		EA	1	\$3,800.00	\$3,800.00	\$5,360.00	\$5,360.00	\$2,500.00	\$2,500.00
•	UDES TREES, SHRUBS, FENCES, ETC.)	AC	49.1	\$1,940.00	\$95,254.00	\$2,740.00	\$134,534.00	\$2,000.00	\$98,200.00
3 CLEARING AND GRUBBING (INCL (EASEMENTS)	.UDES TREES, SHRUBS, FENCES, ETC.)	AC	0.69	\$1,940.00	\$1,338.60	\$1,000.00	\$690.00	\$2,000.00	\$1,380.00
4 ROUGH LOT GRADING (40'X110' L	_OT)	LOT	181	\$170.00	\$30,770.00	\$140.00	\$25,340.00	\$230.00	\$41,630.00
5 FINAL LOT GRADING (40'X110' LO		LOT	191	\$150.00	\$28,650.00	\$115.00	\$21,965.00	\$140.00	\$26,740.00
6 ROUGH LOT GRADING (50'X110' L	,	LOT	83	\$170.00	\$14,110.00	\$160.00	\$13,280.00	\$230.00	\$19,090.00
7 FINAL LOT GRADING (50'X110' LO	,	LOT	83	\$150.00	\$12,450.00	\$145.00	\$12,035.00	\$140.00	\$11,620.00
	OTS (30'X75' PAD) TO A DEPTH OF 7' BELOW OVER EXCAVATION AND 6 MIL POLY BARRIER	LOT	65	\$2,551.00	\$165,815.00	\$2,065.00	\$134,225.00	\$2,350.00	\$152,750.00
9 MOISTURE CONDITIONING OF LC	OTS (30'X75' PAD) TO A DEPTH OF 10' BELOW	LOT	116	\$2,558.00	\$296,728.00	\$3,070.00	\$356,120.00	\$3,300.00	\$382,800.00
	OVER EXCAVATION AND 6 MIL POLY BARRIER			Ψ=,000.00	<b>4</b> 200,120100	,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,	¥333,1 <u>=</u> 3.33	<b>¥</b> 5,000.00	<del>+</del>
	ADS (40'X75' PAD) PLACE ALL FILL TO ACHIEVE	LOT	5	\$1,888.00	\$9,440.00	\$3,098.00	\$15,490.00	\$1,800.00	\$9,000.00
SHEETING	NDITIONED SOIL AND COVER WITH PLASTIC								
_	OTS (40'X75' PAD) TO A DEPTH OF 7' BELOW	LOT	20	\$2,551.00	\$51,020.00	\$2,095.00	\$41,900.00	\$2,000.00	\$40,000.00
	OVER EXCAVATION AND 6 MIL POLY BARRIER			. ,			. ,	. ,	,
12 MOISTURE CONDITIONING OF LO	OTS (40'X75' PAD) TO A DEPTH OF 10' BELOW	LOT	58	\$2,558.00	\$148,364.00	\$3,150.00	\$182,700.00	\$3,900.00	\$226,200.00
	OVER EXCAVATION AND 6 MIL POLY BARRIER	LOT	30	Ψ2,530.00	\$140,304.00	φ5,150.00	\$102,700.00	φ3,900.00	ΨΖΖΟ,ΖΟΟ.ΟΟ
13 UNCLASSIFIED EXCAVATION (RE	,	CY	45430	\$2.60	\$118,118.00	\$2.56	\$116,300.80	\$2.50	\$113,575.00
<ul><li>14 UNCLASSIFIED EXCAVATION (RE</li><li>15 EXPORT AND STOCKPILE (SCHO</li></ul>	,	CY CY	32900 1000	\$2.60	\$85,540.00 \$3,000.00	\$2.56 \$3.00	\$84,224.00 \$3,000.00	\$2.50 \$2.50	\$82,250.00 \$2,500.00
•	WALL SPOILS STOCKPILED BY RESPECTIVE	CY	6500	\$3.00 \$2.95	\$19,175.00	\$3.50 \$3.50	\$22,750.00	\$3.50	\$22,750.00
	N TO BE PLACED, COMPLETE IN PLACE AT TIME						, ,		, ,
SECTION A - RESIDENTIAL GRADING IM	IPROVEMENTS SUBTOTAL:				\$1,083,572.60		\$1,169,913.80		\$1,232,985.00
SECTION B - GATESHEAD PARKWAY M	MASTER GRADING IMPROVEMENTS								
1 CLEARING AND GRUBBING (INCL	UDES TREES, SHRUBS, FENCES, ETC.)	AC	1.4	\$1,940.00	\$2,716.00	\$2,750.00	\$3,850.00	\$2,000.00	\$2,800.00
2 UNCLASSIFIED EXCAVATION (RO	•	CY	150	\$2.60	\$390.00	\$15.00	\$2,250.00	\$2.50	\$375.00
3 CONSTRUCTION ENTRANCE (GA	,	EA	1	\$3,800.00	\$3,800.00	\$5,360.00	\$5,360.00	\$2,500.00	\$2,500.00
SECTION B - GATESHEAD PARKWAY M	ASTER GRADING IMPROVEMENTS SUBTOTAL:	•		•	\$6,906.00		\$11,460.00		\$5,675.00
SECTION C - MISCELLANEOUS ITEMS									
1 PERFORMANCE AND PAYMENT E	BONDS	LS	1	\$17,500.00	\$17,500.00	\$19,500.00	\$19,500.00	\$31,000.00	\$31,000.00
SECTION C - MISCELLANEOUS ITEMS S	SUBTOTAL:				\$17,500.00		\$19,500.00		\$31,000.00
ALTERNATE I - RESIDENTIAL GRADING	G IMPROVEMENTS								
1 MOISTURE CONDITIONING OF LC	OTS (30'X75' PAD) TO A DEPTH OF 10' BELOW	LOT	10	\$4,244.00	\$42,440.00	\$3,260.00	\$32,600.00	\$3,300.00	\$33,000.00
	OVER EXCAVATION AND 6 MIL POLY BARRIER			<b>4</b> · <b>,</b> — · · · · · ·	<b>,</b> 12 <b>,</b> 1, 1, 1, 1	<b>*</b> -,	*,	<b>4</b> -,	<b>400,000</b>
ALTERNATE I - RESIDENTIAL GRADING	IMPROVEMENTS SUBTOTAL:				\$42,440.00		\$32,600.00		\$33,000.00
ALTERNATE II – GRADING									
1 HAUL OFF STREET EXCAVATION		CY	32900	\$45.00	\$1,480,500.00	\$25.00	\$822,500.00	\$12.50	\$411,250.00
ALTERNATE II – GRADING SUBTOTAL:					\$1,480,500.00		\$822,500.00		\$411,250.00
ALTERNATE III - FLOODPLAIN VALLEY	STORAGE GRADING								
1 UNCLASSIFIED EXCAVATION FRO	OM FLOODPLAIN INCLUDING HAULING AND	CY	5000	\$20.00	\$100,000.00	\$6.50	\$32,500.00	\$13.00	\$65,000.00
STOCKPILING MATERIAL ON SCH	HOOL SITE								
2 DRAIN AND DEMUCK EXISTING F	LOODPLAIN	LS	1	\$35,000.00	\$35,000.00	\$40,000.00	\$40,000.00	\$22,500.00	\$22,500.00
ALTERNATE III - FLOODPLAIN VALLEY	STORAGE GRADING SUBTOTAL:				\$135,000.00		\$72,500.00		\$87,500.00

BID OPENING DATE:
BID OPENING LOCATION:
TABULATION BY:
TABULATION DATE:
LJA JOB NO.

SUBTOTAL ALTERNATE IV - EROSION CONTROL

CONSTRUCTION OF THE GRADING IMPROVEMENTS FOR WILDCAT RANCH, PHASE 5 KAUFMAN COUNTY FRESH WATER SUPPLY DISTRICT NO. 4B CITY OF CRANDALL E.T.J., KAUFMAN COUNTY, TEXAS AUGUST 6, 2024

\$45,938.50

LJA ENGINEERING, INC. S.BOOTH AUGUST 6, 2024

NT840-0015I

				1) OBRA RAMOS EXCAVATION, INC.		2) RPM XCONSTRUCTION		3) CHRIS HARP CONSTRUCTION	
ITEM	DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST
ALTERNATE IV - EROSIO	ON CONTROL						. ( )	•	
1 SILT FENCE		LF	7940	\$2.00	\$15,880.00	\$2.08	\$16,515.20	\$2.15	\$17,071.00
2 TEMPORARY EROS INCLUDING SEEDII	SION BLANKET (CURLEX OR APPROVED EQUIVALENT, NG)	AC	1.3	\$9,300.00	\$12,090.00	\$9,335.00	\$12,135.50	\$10,300.00	\$13,390.00
	SION BLANKET (CURLEX OR APPROVED EQUIVALENT, NG) (GATESHEAD PARKWAY)	AC	0.33	\$50.00	\$16.50	\$9,335.00	\$3,080.55	\$10,300.00	\$3,399.00
4 SEEDING (LOTS)		LOT	274	\$50.00	\$13,700.00	\$39.89	\$10,929.86	\$43.50	\$11,919.00
5 SEEDING (GRADEI TEMPORARY EROS	D AREA OUTSIDE OF ROW & LOTS NOT COVERED BY SION CONTROL)	AC	1.38	\$400.00	\$552.00	\$379.50	\$523.71	\$724.63	\$999.99
6 ROCK CHECK DAM	Л	EA	2	\$1,200.00	\$2,400.00	\$1,320.00	\$2,640.00	\$1,200.00	\$2,400.00
7 ROCK CHECK DAM	M (GATESHEAD PARKWAY)	EA	1	\$1,300.00	\$1,300.00	\$1,320.00	\$1,320.00	\$1,200.00	\$1,200.00
ALTERNATE IV - EROSIO	ON CONTROL SUBTOTAL:				\$45,938.50	(7)	\$47,144.82		\$50,378.99
BIDDING SUMMARY									
SUBTOTAL SECTION A -	RESIDENTIAL GRADING IMPROVEMENTS				\$1,083,572.60		\$1,169,913.80		\$1,232,985.00
SUBTOTAL SECTION B -	GATESHEAD PARKWAY MASTER GRADING IMPROVEMENTS				\$6,906.00		\$11,460.00		\$5,675.00
SUBTOTAL SECTION C -	MISCELLANEOUS ITEMS				\$17,500.00		\$19,500.00		\$31,000.00
TOTAL AMOUNT BASE B	BID				\$1,107,978.60		\$1,200,873.80		\$1,269,660.00
ALTERNATE ITEMS:	I - RESIDENTIAL GRADING IMPROVEMENTS				\$42,440.00		\$32,600.00		\$33,000.00
SUBTOTAL ALTERNATE					\$1,480,500.00		\$822,500.00		\$411,250.00
	III - FLOODPLAIN VALLEY STORAGE GRADING				\$135,000.00		\$72,500.00		\$87,500.00

Page 3 of 5

FRN F-1386
LJA Engineering, Inc.

\$47,144.82

\$50,378.99

BID OPENING DATE:
BID OPENING LOCATION:
TABULATION BY:
TABULATION DATE:
LJA JOB NO.

CONSTRUCTION OF THE GRADING IMPROVEMENTS FOR WILDCAT RANCH, PHASE 5 KAUFMAN COUNTY FRESH WATER SUPPLY DISTRICT NO. 4B CITY OF CRANDALL E.T.J., KAUFMAN COUNTY, TEXAS AUGUST 6, 2024

LJA ENGINEERING, INC. S.BOOTH AUGUST 6, 2024 NT840-0015I

	4) FCS CONSTRUCTION, LP		UCTION, LP	5) HARD ROCK E	EXCAVATION	6) HAMMETT EXCAVATION INC.		
ITEM DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST
SECTION A - RESIDENTIAL GRADING IMPROVEMENTS							•	
1 CONSTRUCTION ENTRANCE	EA	1	\$3,500.00	\$3,500.00	\$3,000.00	\$3,000.00	\$3,800.00	\$3,800.00
2 CLEARING AND GRUBBING (INCLUDES TREES, SHRUBS, FENCES, ETC.)	AC	49.1	\$1,650.00	\$81,015.00	\$1,450.00	\$71,195.00	\$2,028.51	\$99,599.84
3 CLEARING AND GRUBBING (INCLUDES TREES, SHRUBS, FENCES, ETC.) (EASEMENTS)	AC	0.69	\$1,650.00	\$1,138.50	\$1,450.00	\$1,000.50	\$2,028.98	\$1,400.00
4 ROUGH LOT GRADING (40'X110' LOT)	LOT	181	\$250.00	\$45,250.00	\$200.00	\$36,200.00	\$558.00	\$100,998.00
5 FINAL LOT GRADING (40'X110' LOT) 6 ROUGH LOT GRADING (50'X110' LOT)	LOT LOT	191 83	\$250.00 \$250.00	\$47,750.00 \$20,750.00	\$200.00 \$200.00	\$38,200.00 \$16,600.00	\$150.00 \$558.00	\$28,650.00 \$46,314.00
7 FINAL LOT GRADING (50'X110' LOT)	LOT	83	\$250.00	\$20,750.00	\$200.00	\$16,600.00	\$150.00	\$12,450.00
8 MOISTURE CONDITIONING OF LOTS (30'X75' PAD) TO A DEPTH OF 7' BELOW	LOT	65	\$2,700.00	\$175,500.00	\$2,800.00	\$182,000.00	\$2,910.00	\$189,150.00
FINISH PAD ELEVATIONS, INC. 5' OVER EXCAVATION AND 6 MIL POLY BARRIER								
9 MOISTURE CONDITIONING OF LOTS (30'X75' PAD) TO A DEPTH OF 10' BELOW	LOT	116	\$3,175.00	\$368,300.00	\$4,200.00	\$487,200.00	\$3,554.81	\$412,357.96
FINISH PAD ELEVATIONS, INC. 5' OVER EXCAVATION AND 6 MIL POLY BARRIER			<b>4</b> -,	(	,,,,,,,,,,	<b>,</b> ,	<b>40,00</b>	<b>+</b> · · <b>-,</b> · · · · ·
10 MOISTURE CONDITIONING OF PADS (40'X75' PAD) PLACE ALL FILL TO ACHIEVE	LOT	E	<b>\$500.00</b>	¢2 500 00	¢1 500 00	¢7 500 00	¢5,000,00	¢25,000,00
FINAL GRADE AS MOISTURE CONDITIONED SOIL AND COVER WITH PLASTIC	LOT	5	\$500.00	\$2,500.00	\$1,500.00	\$7,500.00	\$5,000.00	\$25,000.00
SHEETING								
11 MOISTURE CONDITIONING OF LOTS (40'X75' PAD) TO A DEPTH OF 7' BELOW	LOT	20	\$2,700.00	\$54,000.00	\$2,800.00	\$56,000.00	\$3,562.40	\$71,248.00
FINISH PAD ELEVATIONS, INC. 5' OVER EXCAVATION AND 6 MIL POLY BARRIER					•			
12 MOISTURE CONDITIONING OF LOTS (40'X75' PAD) TO A DEPTH OF 10' BELOW	LOT	58	\$3,175.00	\$184,150.00	\$4,200.00	\$243,600.00	\$4,989.50	\$289,391.00
FINISH PAD ELEVATIONS, INC. 5' OVER EXCAVATION AND 6 MIL POLY BARRIER								
13 UNCLASSIFIED EXCAVATION (RESIDENTIAL LOTS & OPEN SPACES)	CY	45430	\$2.69	\$122,206.70	\$3.00	\$136,290.00	\$3.15	\$143,104.50
14 UNCLASSIFIED EXCAVATION (RESIDENTIAL ROW)	CY	32900	\$2.69	\$88,501.00	\$3.00	\$98,700.00	\$3.15	\$103,635.00
15 EXPORT AND STOCKPILE (SCHOOL SITE)	CY	1000	\$7.00	\$7,000.00	\$0.25	\$250.00	\$3.25	\$3,250.00
16 PROCESS AND PLACE UTILITY & WALL SPOILS STOCKPILED BY RESPECTIVE CONTRACTORS IN THE LOCATION TO BE PLACED. COMPLETE IN PLACE AT TIME	CY =	6500	\$4.70	\$30,550.00	\$4.00	\$26,000.00	\$3.29	\$21,385.00
OF FINAL BENCHING	=							
SECTION A - RESIDENTIAL GRADING IMPROVEMENTS SUBTOTAL:				\$1,252,861.20		\$1,420,335.50		\$1,551,733.30
SECTION B - GATESHEAD PARKWAY MASTER GRADING IMPROVEMENTS								
1 CLEARING AND GRUBBING (INCLUDES TREES, SHRUBS, FENCES, ETC.)	AC	1.4	\$1,650.00	\$2,310.00	\$8,500.00	\$11,900.00	\$10,357.14	\$14,500.00
2 UNCLASSIFIED EXCAVATION (ROW)	CY	150	\$10.00	\$1,500.00	\$6.00	\$900.00	\$20.00	\$3,000.00
3 CONSTRUCTION ENTRANCE (GATESHEAD PARKWAY)	EA	1	\$3,500.00	\$3,500.00	\$3,000.00	\$3,000.00	\$3,800.00	\$3,800.00
SECTION B - GATESHEAD PARKWAY MASTER GRADING IMPROVEMENTS SUBTOTAL:				\$7,310.00		\$15,800.00		\$21,300.00
SECTION C - MISCELLANEOUS ITEMS								
1 PERFORMANCE AND PAYMENT BONDS	LS	1	\$18,100.00	\$18,100.00	\$20,400.00	\$20,400.00	\$22,615.00	\$22,615.00
SECTION C - MISCELLANEOUS ITEMS SUBTOTAL:				\$18,100.00		\$20,400.00		\$22,615.00
ALTERNATE I - RESIDENTIAL GRADING IMPROVEMENTS		•						
1 MOISTURE CONDITIONING OF LOTS (30'X75' PAD) TO A DEPTH OF 10' BELOW	LOT	10	\$4,200.00	\$42,000.00	\$4,200.00	\$42,000.00	\$3,600.00	\$36,000.00
FINISH PAD ELEVATIONS, INC. 5' OVER EXCAVATION AND 6 MIL POLY BARRIER								
ALTERNATE I - RESIDENTIAL GRADING IMPROVEMENTS SUBTOTAL:				\$42,000.00		\$42,000.00		\$36,000.00
				<b>\$42,000.00</b>		<b>Ψ42,000.00</b>		<b>φ36,000.00</b>
ALTERNATE II – GRADING								
1 HAUL OFF STREET EXCAVATION	CY	32900	\$20.00	\$658,000.00	\$20.00	\$658,000.00	\$21.00	\$690,900.00
ALTERNATE II – GRADING SUBTOTAL:				\$658,000.00		\$658,000.00		\$690,900.00
ALTERNATE III - FLOODPLAIN VALLEY STORAGE GRADING								
1 UNCLASSIFIED EXCAVATION FROM FLOODPLAIN INCLUDING HAULING AND	CY	5000	\$0.00	\$0.00	\$7.50	\$37,500.00	\$0.00	\$0.00
STOCKPILING MATERIAL ON SCHOOL SITE  2 DRAIN AND DEMUCK EXISTING FLOODPLAIN	LS	1	\$0.00	\$0.00	\$9,500.00	\$9,500.00	\$0.00	\$0.00
	LU	1	φυ.υυ		φ <del>σ</del> ,υυυ.υυ		φυ.υυ	
ALTERNATE III - FLOODPLAIN VALLEY STORAGE GRADING SUBTOTAL:				\$0.00		\$47,000.00		\$0.00

BID OPENING DATE:
BID OPENING LOCATION:
TABULATION BY:
TABULATION DATE:
LJA JOB NO.

CONSTRUCTION OF THE GRADING IMPROVEMENTS FOR WILDCAT RANCH, PHASE 5
KAUFMAN COUNTY FRESH WATER SUPPLY DISTRICT NO. 4B
CITY OF CRANDALL E.T.J., KAUFMAN COUNTY, TEXAS
AUGUST 6, 2024
LJA ENGINEERING, INC.

S.BOOTH AUGUST 6, 2024 NT840-0015I

				4) FCS CONSTRUCTION, LP		5) HARD ROCK EXCAVATION		6) HAMMETT EXCAVATION INC.	
ITEM	DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST
ALTERNATE IV - ERG	OSION CONTROL							•	
1 SILT FENCE		LF	7940	\$2.00	\$15,880.00	\$2.00	\$15,880.00	\$1.85	\$14,689.00
2 TEMPORARY E INCLUDING SE	EROSION BLANKET (CURLEX OR APPROVED EQUIVALENT, EDING)	AC	1.3	\$10,900.00	\$14,170.00	\$4,654.00	\$6,050.20	\$9,349.00	\$12,153.70
	EROSION BLANKET (CURLEX OR APPROVED EQUIVALENT, EDING) (GATESHEAD PARKWAY)	AC	0.33	\$10,900.00	\$3,597.00	\$9,960.00	\$3,286.80	\$9,349.00	\$3,085.17
4 SEEDING (LOT	¬S)	LOT	274	\$61.00	\$16,714.00	\$40.00	\$10,960.00	\$75.00	\$20,550.00
•	ADED AREA OUTSIDE OF ROW & LOTS NOT COVERED BY EROSION CONTROL)	AC	1.38	\$400.00	\$552.00	\$400.00	\$552.00	\$415.44	\$573.3072
6 ROCK CHECK	DAM	EA	2	\$1,200.00	\$2,400.00	\$1,045.00	\$2,090.00	\$1,100.00	\$2,200.00
7 ROCK CHECK	DAM (GATESHEAD PARKWAY)	EA	1	\$1,200.00	\$1,200.00	\$1,045.00	\$1,045.00	\$1,100.00	\$1,100.00
ALTERNATE IV - ERC	OSION CONTROL SUBTOTAL:				\$54,513.00		\$39,864.00		\$54,351.18
<b>BIDDING SUMMARY</b>					_				
SUBTOTAL SECTION	A - RESIDENTIAL GRADING IMPROVEMENTS				\$1,252,861.20		\$1,420,335.50		\$1,551,733.30
SUBTOTAL SECTION	B - GATESHEAD PARKWAY MASTER GRADING IMPROVEMENTS				\$7,310.00		\$15,800.00		\$21,300.00
SUBTOTAL SECTION	I C - MISCELLANEOUS ITEMS				\$18,100.00		\$20,400.00		\$22,615.00
TOTAL AMOUNT BAS	SE BID				\$1,278,271.20		\$1,456,535.50		\$1,595,648.30
SUBTOTAL ALTERNA SUBTOTAL ALTERNA	ATE III - FLOODPLAIN VALLEY STORAGE GRADING				\$42,000.00 \$658,000.00 \$0.00		\$42,000.00 \$658,000.00 \$47,000.00		\$36,000.00 \$690,900.00 \$0.00
SUBTUTAL ALTERNA	ATE IV - EROSION CONTROL				\$54,513.00		\$39,864.00		\$54,351.18

Page 5 of 5

FRN F-1386
LJA Engineering, Inc.